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AEN R BHIHD
M oed 2
thel: s AE 2 2 HA)
NS 2 ZH . S(3) - HIRA - 01l abot i HIm =2
= 3,722,000
& 893,280
403 XXM S K=01& 4,615,280 3,856,400 758,880
= 3,722,000
& 893,280
01 AIXIHAMA2EE 4,615,280 3,856,400 758,880
OYRALE XX S 4,615,280
= 3,722,000
< 893,280
SAANGE AZXNE TG (=2D) 558,000 279,000 279,000
= 450,000
& 108,000
403 RXIHMSKH=201H 558,000 279,000 279,000
= 450,000
& 108,000
01 MXISHHMA2EE 558,000 279,000 279,000
ovsXE XA S 558,000
== 450,000
& 108,000
IIAZEE(GP) HEIIA HAZA 2 31,250 0 31,250
2)
= 131,250
403 MXIHMS K201 131,250 0 131,250
= 131,250
01 AIXHH =22 X 131,250 0 131,250
OJIAEHEI HI=JtA M2ZEX 131,250
= 131,250
SEQAUAMNA 2E2E(=21) 48,526 19,425 29,101
= 42 197
& 6,329
403 KXIHMSK=201H 48,526 19,425 29,101
= 42 197
& 6,329
01 AIXIHH K22 X 48,526 19,425 29,101
OFELIAZAMA 2E2Z 48,526
= 42,197
& 6,329
FHAHES0IZAIE SIS 37,000 36,000 1,000
201 L2 AY| 1,000 0 1,000
01 At222teld| 1,000 0 1,000
OMestd Folel At 22l 1,000
308 AXISHMSOIA 36,000 36,000
01 AIXHHBALEES 36,000 36,000




4= auE= SN BAZHY
IE: DB 2
SRl QIS AIE 22| (chel: &)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
| oaxuzdz =312 o AL 3,000
CE2MBIASX M2ZAIE (=1) 600,000 300,000 300,000
= 600,000
403 MXIEMSA=201H 600,000 300,000 300,000
= 600,000
01 AXIEHHA=E XL 600,000 300,000 300,000
OZZMHBI&HA M2 AHE 600,000
= 600,000
OIMISX tHESE s =8 31,000 18,400 12,600
201 LBt2E | 15,000 15,000 0
01 At22telt] 15,000 15,000 0
CEREREE 15,000
202 OdH| 2,000 3,400 1,400
01 =LHObI 2,000 3,400 21,400
ODINPITIHSE0 ¥PET 2,000
308 RFRIEHMISOIE 14,000 14,000
11 S [2S U3 4R AS A 14,000 14,000
OZE < OIMEX 32 EE3] 14,000
MR8 M=A 22 ESAME(20) 448,560 440,568 7,992
= 373,800
& 74,760
403 AMXIEMSA=01H 448,560 440,568 7,992
= 373,800
= 74,760
01 MRS A= E X 448,560 440,568 7,992
OJI8gE N=4 282 22 448,560
= 373,800
= 74,760
SR HEHA MB(=12) 33,143,645 45,285,510 12,141,865
= 25,702,250
S 7,441,395
308 AXIHHSOIA 33,143,645 45,285,510 A12,141,865
= 25,702,250
& 441,3%
01 XN B dExES 33,143,645 45,285,510 A12,141,865
O=gdRA XJIHX XA 27,102,855
= 20,848,350
= 6,254,505
OZR NS HAMZEX £X 2,175,030
= 1,673,100
= 501,930
OPM - NOXSAI M ZE X &X 97,500
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Az JgEER SN BT
X-Iil-l: EHjla}jq I:l&
c?. QIEHHIEAIZ 2L (EEREED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 75,000
= 22,500
OAEIIH AN Z X £X 23,760
= 19,800
= 3,960
OAEIA AMTWH K& 3,207,600
= 2,673,000
= 534,600
OLPGRtE Xt AXt=Y X2 439,400
= 338,000
= 101,400
O3 =t M A" 2= 97,500
= 75,000
& 22,500
020l S&Xter LPeXt & X (=1) 445,900 659,750 A213,850
= 343,000
= 102,900
308 AHRIEHMISOIE 445,900 659,750 213,850
= 343,000
= 102,900
01 AXHHBEEES 445,900 659,750 213,850
OO{el0| SstRtef LPGRE &t XI& 445,900
= 343,000
= 102,900
SEI12F 2 M2 EX 45 | - 2e(22) 19,121 780 18,341
= 14,708
[ 4,413
308 AFXIEHMSOIE 19,121 780 18,341
= 14,708
= 4,413
01 AXSHHBeEXS 19,121 780 18,341
ONHENZEX &5 =Al - 22 19,121
= 14,708
= 4,413
OIMEIR SHHE g2 A(R1) 2,330,900 2,317,060 13,840
= 1,793,000
& 537,900
308 AR EHMSO0IH 2,330,900 2,317,060 13,840
= 1,793,000
[ 537,900
01 MXHHBEX= 2,330,900 2,317,060 13,840
ouEadd 29 2,330,900
= 1,793,000
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AEN R SN BT
M g 2
thel: s AE 2 (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
| 1] = 537,900
MEEH M 52,119,734 42,346,127 9,773,607
= 26,344,800
s 7,602,000
& 18,172,934
ME HOIZ2 S=Xcal 13,124,284 10,974,877 2,149,407
= 1,681,300
s 7,602,000
== 3,840,984
HOIZ22 eHEA Xel 563,188 674,442 A111,254
201 LEr2 | 7,500 5,000 2,500
02 324l 7,500 5,000 2,500
Os=HJI=gal H3lH| 7,500
202 o4t 6,800 6,800
01 =WO4HI 6,800 6,800
OXJEE HAS HRFX 6,800
308 AtXISHMSO0IH 548,888 522,642 26,246
01 AXIEHBLEES 548,883 522,642 26,246
oL EZAN 29 548,883
Ste & srrMeD| (=) 592,500 603,786 A11,286
= 525,000
& 67,500
308 AtXISHMSO0IH 592,500 603,786 A11,286
= 525,000
& 67,500
01 AXESHNHBAEEXS 592,500 603,786 211,286
OGtE S ALY 592,500
= 525,000
& 67,500
Hs22II8 +=HMH 2E2(201EEXHA) 156,671 172,9% 16,325
403 XtXIHMS K201 A 156,671 172,996 A16,325
02 IS e =X RAEAFS Y] 156,671 172,996 N 16,325
OsAYd, SXFE =HAMY 2E= 156,671
sEHHIE S=HEAZ2 NJ(21) 509,800 255,700 254,100
= 509,800
308 AtXISHMS0IH 509,800 255,700 254,100
= 509,800
01 AXESHNHBAEEXS 509,800 255,700 254,100
O=ZHHIY =4l XI& 509,800
= 509,800
=S8t &5 X2 (=1) 265,200 323,436 A58,236
= 156,000
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AERN R BRI
M MBEZH M
celr MEA HIIZ2 SEHAC EEREED
NS 2 ZH . S(3) - HIRA - 01l abot i HIm =2
& 109,200
403 RXIHMS K201 265,200 323,436 ABB,236
= 156,000
= 109,200
01 AIXIHNA2E L 265,200 323,436 A\B8,236
O=ZHHIE ==s&otE &= 265,200
= 156,000
& 109,200
Zdl0IE XMelX&(=Z1) 9,122,400 7,851,055 1,271,345
s 7,602,000
& 1,520,400
403 RXIHMS K201 9,122,400 7,851,055 1,271,345
sy 7,602,000
= 1,520,400
01 AIXIHNA2EE 9,122,400 7,851,055 1,271,345
OZdI0IEXMIX&A 9,122,400
rax 7,602,000
= 1,520,400
Nazg -3 N3 1,276,875 1,004,962 271,913
201 B2 AY| 5,400 0 5,400
01 At 22|l 5,400 0 5,400
OXax=E a4t K& 5,400
403 XtXIHMS =01 A 1,271,475 1,004,962 266,513
01 MXISHHA2E S 1,271,475 1,004,962 266,513
OXAcE a4t K& 1,271,475
MHe2E SEMNE XAAE(S1) 312,650 0 312,650
= 240,500
& 72,150
308 AXISHMSOIA 312,650 0 312,650
= 240,500
& 72,150
01 AXESHNHBAEEXS 312,650 0 312,650
OZ33dEE eIkXIA 312,650
= 240,500
T 72,150
CHEIEDl Al sX(=21) 325,000 0 325,000
= 250,000
== 75,000
308 AtXISHMS0IH 325,000 0 325,000
= 250,000
& 75,000
01 AXIEHHBAEES 325,000 0 325,000
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AERN R SN BT
M MBEZH M
2l MEA HIIZS =X EEREED
AT A ZH . SR(E) - KIRAIY - BSS ol ke i fimE=T
OCtalgl] HAIE =& 325,000
= 250,000
= 75,000
HOI2XeAEE= 38,995,450 31,371,250 7,624,200
= 24,663,500
== 14,331,950
M Dl A2AIE EXI(=1) 25,348,100 21,666,000 3,682,100
= 16,090,000
& 9,258,100
403 XX HMS =01 A 25,348,100 21,666,000 3,682,100
= 16,090,000
& 9,258,100
01 XIXISHH 22X 25,348,100 21,666,000 3,682,100
QMY Il A2AIE AXI 25,348,100
= 16,090,000
& 9,258,100
SIISH X BIOILItASE AFRE(=1) 1,821,500 0 1,821,500
= 1,500,000
o= 321,500
403 XtXIHMS =01 1,821,500 0 1,821,500
= 1,500,000
& 321,500
01 XXM 22 X 1,821,500 0 1,821,500
OFIISEHAHRA BIOILItASH A 1,821,500
= 1,500,000
& 321,500
METR S ~HH X AR (21) 7,691,600 3,264,000 4,427,600
= 4,962,000
= 2,729,600
403 XX HHMS K201 7,691,600 3,264,000 4,427,600
= 4,962,000
== 2,729,600
01 XXM 22X 7,691,600 3,264,000 4,427,600
oMt ssdH &X 7,691,600
= 4,962,000
& 2,729,600
sHEHIISH2IAE EX(=1) 1,466,000 518,500 A7,500
= 247,000
< 1,219,000
403 XX SHHMSK201AM 1,466,000 518,500 947,500
= 247,000
< 1,219,000
01 XXISH 22X 1,466,000 518,500 A7,500
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AERN R SN BT
M MEEH M
Bl HIISMEIANEES (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
O=HEHDIIZXelAIE &X 1,466,000
= 247,000
& 1,219,000
Hes sdotg 84X XA(=21) 477,750 341,250 136,500
= 367,500
== 110,250
403 XIS MS =01 477,750 341,250 136,500
= 367,500
& 110,250
01 AIXHHA=2E L 477,750 341,250 136,500
OMEMD| ZLlE HEAIE &EX 477,750
= 367,500
& 110,250
2eI5tA &x1 A 6,000 150,000 A144,000
403 XX SHHMSK=01AM 6,000 150,000 A144,000
01 XXt A= 2 = 6,000 150,000 A 144,000
OMEM D ZeltE HEAE & 6,000
MEHI|IS HHAIE EX(=1) 606,500 5,431,500 24,825,000
= 357,000
& 249,500
403 XX HMS =01 A 606,500 5,431,500 A4,825,000
= 357,000
& 249,500
01 IXIHH K22 X 606,500 5,431,500 24,825,000
OMEHI|I=Z HEAIE &X 606,500
= 357,000
= 249,500
SAER HOIZ2 HM2lAE EX(=31) 408,000 0 408,000
= 240,000
== 168,000
403 XX HMSAH=01 A 408,000 0 408,000
= 240,000
& 168,000
01 XISHHMAIZ2E X 408,000 0 408,000
OsA=F HII=Z X2lAlE &X 408,000
= 240,000
& 168,000
TEFNUXIEI2 ZLEAE (=) 1,170,000 0 1,170,000
= 900,000
< 270,000
403 XX SHHMSK=01M 1,170,000 0 1,170,000
= 900,000
== 270,000
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